Owner’s Manual

Portable Digital Signage Stand
for 32" to 55" Screens

Model: DMPDS3255F

Espanol 9 ¢ Francais 17 * Pycckui 25 ¢ Deutsch 33

CAUTION: DO NOT EXCEED MAXIMUM LISTED WEIGHT CAPACITY.
SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!

%\ 200x200/300x200
)z ) 300x300/400x200
*/  400x300/400x400

WARRANTY REGISTRATION

Register your product today and be

I s ]
automatically entered to win an ISOBAR® e . . .w F

gy
7/Ibs

(35]kg)
RATED

surge protector in our monthly drawing! ‘M. . .

tripplite.com/warranty

E’F’P@TE

ER
TARS
Excellenc

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2021 Tripp Lite. All rights reserved.



Safety Instructions

NOTE: Read the entire instruction manual before you start assembly and installation.

/\WARNING

* Do not begin the installation until you have read and understood the instructions and warnings contained in this
manual. If you have any questions regarding any of the instructions or warnings, please visit tripplite.com/support.

* This mount was designed to be installed and utilized ONLY as specified in this manual. Improper installation of this
product may cause damage or serious injury.

* This product should only be installed by someone of good mechanical ability, with basic building experience and a
full understanding of this instruction manual.

* Make sure that the mounting surface can safely support the combined load of the equipment and all attached
hardware and components.

* Always use an assistant or mechanical lifting equipment to safely lift and position equipment.

* Tighten screws firmly, but do not over-tighten. Over-tightening screws can damage the items, greatly reducing their
holding power.

* This product is intended for indoor use only. Using this product outdoors could lead to product failure and
personal injury.

Warranty & Product Registration

5-Year Limited Warranty

Seller warrants this product, if used in accordance with all applicable instructions, to be free from original defects in material
and workmanship for a period of 5 years from the date of initial purchase. If the product should prove defective in material or
workmanship within that period, Seller will repair or replace the product, at its sole discretion.

THIS WARRANTY DOES NOT APPLY TO NORMAL WEAR OR TO DAMAGE RESULTING FROM ACCIDENT, MISUSE, ABUSE

OR NEGLECT. SELLER MAKES NO EXPRESS WARRANTIES OTHER THAN THE WARRANTY EXPRESSLY SET FORTH HEREIN.
EXCEPT TO THE EXTENT PROHIBITED BY APPLICABLE LAW, ALL IMPLIED WARRANTIES, INCLUDING ALL WARRANTIES OF
MERCHANTABILITY OR FITNESS, ARE LIMITED IN DURATION TO THE WARRANTY PERIOD SET FORTH ABOVE; AND THIS
WARRANTY EXPRESSLY EXCLUDES ALL INCIDENTAL AND CONSEQUENTIAL DAMAGES. (Some states do not allow limitations
on how long an implied warranty lasts, and some states do not allow the exclusion or limitation of incidental or consequential
damages, so the above limitations or exclusions may not apply to you. This warranty gives you specific legal rights, and you
may have other rights which vary from jurisdiction to jurisdiction.)

WARNING: The individual user should take care to determine prior to use whether this device is suitable, adequate or safe for
the use intended. Since individual applications are subject to great variation, the manufacturer makes no representation or
warranty as to the suitability or fitness of these devices for any specific application.

Product Registration

Visit tripplite.com/warranty today to register your new Tripp Lite product. You’ll be automatically entered into a drawing for a
chance to win a FREE Tripp Lite product!*
* No purchase necessary. Void where prohibited. Some restrictions apply. See website for details.

Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.
Photos and illustrations may differ slightly from actual products



Component Checklist

IMPORTANT: Ensure that you have received all parts according to the component checklist prior to installing.
If any parts are missing or faulty, visit tripplite.com/support for service.

/(Dmmm @m

M5x14 (x4) M6x14 (x4)
M-A M-B

re = o o (oo (o

@mmnmnmmmm\

M6x30 (x4)
M-C

MEﬁOD(XA) MBxhi:OE(XA)
M6x30 (x2) M6x14 (x2) M8x30 (x10) @ @:}
E (x2) F G H 1(x4) J(x1) K (x1) ———
\ M-F (x4) M-G (x8) M-H (x8) /
Package P Package M

1. Assembling the Stand




1. Assembling the Stand




1. Assembling the Stand




2. Attaching the Brackets to the Display




3. Cable Management

MAINTENANCE: Check at regular intervals (at least every 3 months)
to make sure the display is secure and safe to use.

7



Excellence

TRIPPLITE &

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

8 21-02-295 + 93-3E00_RevA



Manual del Propietario

Soporte Portatil para Senalizacion
Digital para Pantallas de 32" a 55"

Modelo: DMPDS3255F

English 1 ¢ Francais 17 * Pycckuin 25 ¢ Deutsch 33

PRECAUCION: NO EXCEDA LA CAPACIDAD DE CARGA MAXIMA INDICADA.
iPUEDEN OCURRIR LESIONES SEVERAS O DANOS A LA PROPIEDAD!

8\ 200x200/300x200
(). Jz ) 300x300/400x200 35|kg
S/ 400x300/400x400 [7i1b]
CLASIFICADO
LASIFICA!

Ci
ufactura.

TRIPP-LITE 5

1111 W. 35th Street, Chicago, IL 60609, EE UU ° tripplite.com/support
Copyright © 2021 Tripp Lite. Todos los derechos reservados.



Instrucciones de Seguridad

NOTA: Lea todo el manual de instrucciones antes de iniciar la instalacion y ensamble.

/\ ADVERTENCIA

* No inicie la instalacién hasta que haya leido y entendido las instrucciones y advertencias contenidas en este manual.
Si tiene cualquier pregunta con respecto a cualquiera de las instrucciones o advertencias, visite tripplite.com/support.

* Este soporte fue disenado para ser instalado y utilizado SOLAMENTE como se especifica en este manual. La instalacion
incorrecta de este producto puede causar danos o lesiones severas.

* Este producto debe ser instalado Unicamente por una persona con competencias mecanicas adecuadas, experiencia
basica en construccion y total comprension de este manual de instrucciones.

* Cerciorese que la superficie de instalacion pueda soportar con seguridad la carga combinada de todo el equipo,
hardware y componentes instalados.

* Utilice siempre un ayudante o equipo de elevacién mecanico para levantar y colocar el equipo con seguridad.

* Apriete los tornillos firmemente pero no en exceso. Al apretar excesivamente los tornillos puede danar los
componentes, reduciendo sustancialmente su capacidad de soporte.

* Este producto esta disefado para usarse solo en interiores. Usar este producto en exteriores podria derivar en fallas
del producto y lesiones personales.

Garantia Limitada por 5 Anos

El vendedor garantiza este producto, si se usa de acuerdo con todas las instrucciones aplicables, de que esta libre de defectos
en cuanto a materiales y mano de obra por un periodo de 5 afnos a partir de la fecha de compra inicial. Si el producto resulta
defectuoso en cuanto a materiales o mano de obra dentro de ese periodo, el vendedor reparara o reemplazara el producto a
su entera discrecion.

ESTA GARANTIA NO SE APLICA AL DESGASTE NORMAL O A LOS DANOS QUE RESULTEN DE ACCIDENTES, USO INCORRECTO,
USO INDEBIDO O NEGLIGENCIA. EL VENDEDOR NO OTORGA GARANTIAS EXPRESAS DISTINTAS A LA ESTIPULADA EN EL
PRESENTE. SALVO EN LA MEDIDA EN QUE LO PROHIBAN LAS LEYES APLICABLES, TODAS LAS GARANTIAS IMPLICITAS,
INCLUIDAS TODAS LAS GARANTIAS DE COMERCIALIZACION O IDONEIDAD, ESTAN LIMITADAS EN CUANTO A DURACION

AL PERIODO DE GARANTIA ESTABLECIDO; ASIMISMO, ESTA GARANTIA EXCLUYE EXPRESAMENTE TODOS LOS DANOS
INCIDENTALES E INDIRECTOS. (Algunos estados no permiten limitaciones en cuanto a la duraciéon de una garantia y algunos
estados no permiten la exclusion o limitacion de danos incidentales o indirectos, de modo que es posible que las limitaciones
anteriores no se apliquen a usted. Esta garantia le otorga derechos legales especificos y es posible que usted goce de otros
derechos que pueden variar de una jurisdiccion a otra).

ADVERTENCIA: antes de usarlo, cada usuario debe tener cuidado al determinar si este dispositivo es adecuado o seguro para
el uso previsto. Ya que las aplicaciones individuales estan sujetas a gran variacién, el fabricante no garantiza la adecuacién
de estos dispositivos para alguna aplicacion especifica.

10



Accesorios y Partes Incluidas en el Empaque

IMPORTANTE: Asegrrese antes de instalar, de haber recibido todas las piezas de acuerdo a la lista de comprobacién de compo-
nentes. Si faltase cualquier parte o estuviese danada, visite tripplite.com/support para solicitar servicio.

(" ~
(mm (o
= ﬂ)[]) M5x14 (x4) M6x14 (x4) M6x30 (x4)
o © 5 8)0] " m :
A(x2) B (x3) cod) b
| : : Qmmﬁmm T
e _ é - MBXSOD(XA) M8x50 (x4)
@ a M-E
e omm “ —
MBx30 (:2) Méx14 (x2) MB8x30 (x10) @:)
E (x2) F G H I (x4) Jix1) ) l J : )
\ M-F (x4) M-G (x8) M-H (x8) /
Paquete P Paquete M

1. Ensamble del Pedestal




1. Ensamble del Pedestal




1. Ensamble del Pedestal

13



2. Colocacion de los Soportes en la Pantalla




3. Administracion del Cableado

MANTENIMIENTO: Compruebe a intervalos regulares (por lo menos cada tres
meses) que la pantalla esté estable y sea seguro usarla.

15



Manufactura.

TRIPPLITE ©

1111 W. 35th Street, Chicago, IL 60609, EE UU - tripplite.com/support

16 21-02-295 + 93-3E00_RevA



Manuel de l'utilisateur

Support d'affichage numeérique
portable pour écrans de 81,3 a
139,7 cm (32 a 55 po)

Modéle : DMPDS3255F

English 1 « Espanol 9 * Pycckun 25 ¢ Deutsch 33

MISE EN GARDE : NE PAS EXCEDER LA CAPACITE PONDERALE MAXIMUM INDIQUEE.I
CELA RISQUERAIT DE CAUSER DES BLESSURES GRAVES OU DES DOMMAGES MATERIELS!

[$84%\  200x200/300x200 55" ~
;@ 300x300/400x200 35|kg
U5/ 400x300/400x400 (77 1bs)

EVALUE

Industrielle.

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Droits d'auteur © 2021 Tripp Lite. Tous droits réservés.



Consignes de seécurité

REMARQUE : Lire le manuel d'instructions en entier avant de commencer l'assemblage et l'installation.

/\ AVERTISSEMENT

* Ne pas commencer linstallation avant d'avoir lu et compris les instructions et les avertissements contenus dans le présent manuel.
Pour toute question concernant les instructions ou les avertissements, veuillez visiter tripplite.com/support.

* Ce support a été congu pour étre installé et utilisé UNIQUEMENT comme spécifié dans le présent manuel. Une mauvaise
installation risque de causer des dommages ou des blessures graves.

* Ce produit ne devrait étre installé que par une personne ayant de bonnes aptitudes en mécanique et une expérience de base en
construction de méme qu'une pleine connaissance du présent manuel d'instructions.

 S'assurer que la surface d'appui peut supporter sans risque la charge combinée de I'équipement et de tout le matériel et
composants attachés.

* Toujours faire appel a un assistant ou utiliser de I'équipement de levage mécanique pour soulever et mettre en place l'équipement.

* Serrer fermement les vis, mais sans trop serrer. Trop serrer les vis risquerait de les endommager, réduisant considérablement leur
résistance a l'arrachement.

* Ce produit est prévu pour étre utilisé a l'intérieur uniguement. L'utilisation de ce produit a l'extérieur pourrait entrainer une
défaillance du produit et des Iésions corporelles.

Garantie limitée de 5 ans

Le vendeur garantit ce produit, s'il est utilisé conformément a toutes les instructions applicables, est exempt de tous défauts
de matériaux et de fabrication pour une période de 5 ans a partir de la date d'achat initiale. Si le produit s'avere défectueux
en raison d'un vice de matériau ou de fabrication au cours de cette période, le vendeur s'engage a réparer ou remplacer le
produit, a son entiere discrétion.

CETTE GARANTIE NE S'APPLIQUE PAS A L'USURE NORMALE OU AUX DOMMAGES RESULTANT D'UNE MAUVAISE UTILISATION,
D'UN ABUS OU D'UNE NEGLIGENCE. LE VENDEUR N'ACCORDE AUCUNE GARANTIE EXPRESSE AUTRE QUE LA GARANTIE
EXPRESSEMENT DECRITE DANS LE PRESENT DOCUMENT. SAUF DANS LA MESURE OU CELA EST INTERDIT PAR LA LOI EN
VIGUEUR, TOUTE GARANTIE IMPLICITE, Y COMPRIS TOUTES LES GARANTIES DE QUALITE MARCHANDE OU D'ADAPTATION,
SONT LIMITEES A LA PERIODE DE GARANTIE CI-DESSUS ET CETTE GARANTIE EXCLUT EXPRESSEMENT TOUS DOMMAGES
DIRECTS ET INDIRECTS. (Certains Etats ne permettent pas de limitations sur la durée d'une garantie implicite, et certains Etats
ne permettent pas l'exclusion ou la limitation des dommages fortuits ou consécutifs, de sorte que les limitations ou exclusions
susmentionnées peuvent ne pas s'appliquer a vous. Cette garantie vous accorde des droits légaux spécifiques, et vous pouvez
avoir d'autres droits qui varient d'une compétence a l'autre.)

AVERTISSEMENT : L'utilisateur individuel doit prendre soin de déterminer avant l'utilisation si cet appareil est approprié,
adéquat et s(r pour l'usage prévu. Puisque les utilisations individuelles sont sujettes a des variations importantes, le fabricant
ne fait aucune déclaration ou garantie quant a l'aptitude ou l'adaptation de ces dispositifs pour une application spécifique.

La politique de Tripp Lite en est une d'amélioration continue. Les caractéristiques techniques sont modifiables sans préavis.
Les produits réels peuvent différer Iégerement des photos et des illustrations.

18



Liste de verification des composants

IMPORTANT : S'assurer d'avoir regu toutes les piéces conformément & la liste de vérification des composants

avant de procéder a l'installation. Si des pieces sont manquantes ou défectueuses,
tripplite.com/support pour obtenir de l'aide.

visiter

4 R
(o (om (D
=1 2 = ) — —]) M5x14 (x4) M6x14 (x4) M6x30 (x4)
o 5 = ) e —————— WA (" -C
A(x2) B (x3) c(x1) D (x2)
O ()
MBX"I:OD(XA) MB8x50 (x4)
- M-E
M6x30 (x2) M6x14 (x2) M8x30 (x10) @D @:)
E (x2) F G H 1 (x4) J(x1) K (x1) N 4
\ M-F (x4) M-G (x8) M-H (x8) /
Emballage P Emballage M

1. Assemblage du support




1. Assemblage du support




1. Assemblage du support

2. Fixation des supports a I'écran

21



2. Fixation des supports a I'écran
)l
v big = N




3. Gestion des cables

ENTRETIEN : Vérifier a intervalles réguliers (au moins tous les 3 mois)
que I'écran peut étre utilisé de fagon sécuritaire.

23



Industrielle.

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

24 21-02-295 + 93-3E00_RevA



P)’KOBOACTBO NnoJib30BaTend

[lepeHocHan noacTaBKa ANA SKpaHOB
LMPpoBbIX Meguacucrem pasmepom 32-55"

Mopenb: DMPDS3255F

English 1 * Espanol 9 ¢ Francais 17 * Deutsch 33

BHUMAHWE! HE NPEBILLAVTE MAKCUMATIBHO ONYCTUMBIV BEC.
370 MOXET NPUBECTU K CEPLE3HBIM TPABMAM W UMYLLECTBEHHOMY YLLIEPBY!

R

(2% N 200x200/300x200 557
([ ). 4% ) 300x300/400x200 H
S/ 400x300/400x400 .

15}
TET

nnnnnnnnnnnnnnn

Kauecrea.

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

OxpaHsetca aBTopckum npasom © 2021 Tripp Lite. [epeneuatka 3anpeLuaetcs.



YKa3aHuA no TexHuke 6e3onacHoCcTH

MPUMEYAHUE. MNepen Hayanom yctaHoBKu 1 COOPKI MOAYNA BHUMATENbHO U3yuiTe BCe pa3fenbl PyKOBOACTBA.

/\ BHUMAHME!

« He HaumHaliTe yCTaHOBKY 10 TeX 1op, NOKa He 03HAKOMUTECh CO BCEMY YKa3aHUAMY 1 PeAYNPEXAeHNAMU B HACTOALLEM PYKOBOZACTBE 1 He NOAMETE UX CMbICII,
TPy BO3HUKHOBEHYIN BONPOCOB OTHOCUTENBHO IH00bIX YKa3aHUii Ui NpeaynpexaeHuii nocetute crpanuy tripplite.com/support.

« 3707 KpOHLIJTEVIH npeaHa3HavyeH anA yCctaHoBKM 1 ACMOJIb30BaHNA TO/bKO B uenax, YKa3aHHbIX B HACTOALLEM PYKOBOACTBE. HEI'IpaBI/IJ'IbHaFI YCTaHOBKa JaHHOr0 U3aenna
MOXET NPNBECTI K NPUYNHEHUID MaTePUAbHOIO ym,ep6a nni CyLLecTBEHHOro BpeAa 310p0BbH Titozei.

+ YcTaHoBKa JAHHOIO 3eNA JOMKHA NPOU3BOANUTLCA TOJIbKO CNeLnanncTom C A0CTAaTOYHOI TEXHUYECKON KBaﬂI/Id)MKaLl,I/IeI?I 11 6a30BbIMM HaBbIKaMMU (TpouTtenbCTBa,
B MO/HOI Mepe NOHUMAILLIUM CMbICI I/IH(I)OpMaLlI/II/I, 113N10XXEHHOI B HACTOALLEM PYKOBOACTBE.

+ YbenuTech B TOM, YTO MOHTaXHasA MOBEPXHOCTb MOXET C 3aMacoM BbIZIepXIBaTb CYyMMApPHYH Harpy3ky, C03AaBaeMyH OGOPYAOBHHMEM 1 BCEMU BXOAALLMMN B KOMNNEKT
[eTanAmMn 0CHaCTKI 1 ApyrumMn KOMNOHEHTaMI.

« [lna be3onacHoro noabemMa N HaAIeXalllero pa3meLleHna 060pyﬂ0BaHVIﬂ 0673aTeNbHO oﬁpamaﬁTer 3d NMOMOLLbIO Unu I'IOJ'Ib3yI7IT€Cb rpy30noAbeMHbIM 060py1J,OBaHI/IEM.

+ BuHTbl CNIefyeT 3aTArnBath NJI0THO, HO He NepeTArnBas nx. HGPETHFVIBaHVIE MOXET NPUBECTU K NOBPEXAEHII0 KPENEMXHbIX JeTaneli, Yto 3HauUTesIbHO YXYALIUT NPOYHOCTDb
KpenneHua.

« [laHHoe u3genve npeaHa3HayeHo ANnAa nCnoJib30BaHNA TOJIbKO B 3aKPbITbIX NOMELLEHNAX. llcnonb3oBaHne JaHHOTO 3aenus Ha OTKPbITOM BO3AyXe MOXET NPUBECTU K €ro
BbIX0AY 13 CTPOA N NPUYNHEHNIO BPEAA 310POBbH Tlozei.

TapaHTuiiHble 06A3aTenbcTBa

YcnoBuaA 5-netHeii orpaHMYEeHHOI rapaHTUm

ﬂponaBeu rapaHTUPYeT OTCYTCTBIUE U3HAUYANbHDbIX ﬂeq)EKTOB matepuana Uam U3rotoBneHns B TeueHue 5 et ¢ MOMeHTa nepBOHaqaanoﬂ NOKYNKW AaHHOTO 3aenua npn
YCNnoBui €ro nCnonb3oBaHNA B COOTBETCTBUN CO BCEMI NPUMEHUMbBIMI K HEMY YKa3aHUAMU. B CJlyyae NpoABneHNA Kakux-nnbo £|€¢€KTOB marepiana unmn U3rotoByieHIsA B
TeYeHne yKasaHHOro nepuoaa ﬂponaBeu OCYLLEeCTBNAET PEMOHT WJIN 3aMeHY IaHHOTO0 U3AeNNA UCKNIOYUTENBHO N0 CBOEMY YCMOTPEHUH.

JEACTBUE HACTOALLIER TAPAHTMW HE PACIPOCTPAHAETCA HA CJTYYAN ECTECTBEHHOIO 3HOCA UMW MOBPEMIEHWA B PESYNIBTATE ABAPUY, HEHALTEMALLETO
NCMONb30BAHIA, HAPYLLEHISA NMPABIAN SKCTUTYATALLIAW VAW XANATHOCT. MPOJLABEL HE MPENOCTABMAET HUKAKNX ABHO BbIPAXEHHbIX TAPAHTUI 3A UCKIIOYEHNEM
MPAMO M3NOXEHHOM B HACTOALLEM JOKYMEHTE. 3A MCKMIOYEHWEM CIIYYAEB, 3ANPELLEHHDBIX AEACTBYIOLLUM 3AKOHOZATENBCTBOM, BCE MOJPA3YMEBAEMBIE
TAPAHTIW, BKMIOYAA BCE TAPAHTIW MPUTOAHOCTYA ANA MPOLAMM MW ICMOMb30BAHIA MO HA3HAYEHMIO, OTPAHMYEHDI MO NPOAOMKMTENBHOCTI AEACTBIAA
BbILUEYKA3AHHbIM TAPAHTUAHBIM CPOKOM; KPOME TOTO, 3 HACTOALLIEA TAPAHTUI ABHBIM OBPA30M MCKMOYAIOTCA BCE MTOBOYHBIE, CTYYARHBIE 1 KOCBEHHBIE
YBbITKW. (B HekoTopbIxX LUTaTax He onyckaeTca BBeAeHUe OrpaHueHuii Ha NPOZOMKUTENbHOCTD AeiACTBUA TeX I UHBIX NOAPa3yMeBaeMblX rapaHTHil, a B HEKOTOPbIX

— WCKMIOYEHIe N OrpaHiyeHNe pa3mepa NobOYHDIX UM KOCBEHHDIX YOBITKOB. B 3Tux cyuadx BbilLeN3N0XKEHHbIE OrPaHUYEHUA U UCKITIOYEHNA MOTYT Ha BaC He
pacnpoCTpaHATbCA. HacToALas rapaHTia NpefoCTaBnAeT KOHKPETHbIE lopuanyeckine NpaBa, a Habop Apyrix NpaB MoXeT ObITb Pa3NMYHBIM B 3aBUCUMOCTY OT KOPUCAUKLIK).

BHUMAHWE! [lo Hauana ncnonb30BaHmA JaHHOTO YCTPOICTBA N0MIb30BaTeNb A0MKeH yOeanTbCA B TOM, UTO OHO ABAAETCA NPUrOAHbIM, COOTBETCTBYIOLLM UK 6e30MacHbIM
ANA NpeAnonaraemoro npumeHeHna. B cea3un ¢ 6onbLumm pa3Hoobpasnem KOHKPETHbIX PUMeHeHNIi NPON3BOANUTENb He AaeT Kakux-Nnbo 3aBepeHuil Unn rapaHTuii
OTHOCUTENbHO NPUTOAHOCTI AAHHBIX U3AENMIl 1A KaKOro-N1b0 KOHKPETHOrO MPUMEHEHINA UK X COOTBETCTBIUA KaKUM-NMBO KOHKPETHbIM TpehOoBaHMAM.

Komnanus Tripp Lite nocToAHHO COBEpLUEHCTBYET CBOK MPOAYKLMIO. B CBA3M € 5TVIM BO3MOXHO U3MEHEHIE TEXHUUECKUX XapaKTepucTUK 6e3 npeABapuTenbHOTO yBeOMIEHNS.
BHewwHwil B1 peanbHbIX U3eNuit MOXeT HeCkoNbKo OTANYATLCA 0T NpeCTaBNeHHoro Ha doTorpaduax n unntoctpaumnax.

26



llepeuenb KomnnekTayum

BHUMAHWE! nepen Hauanom ycraHosKu y6eguTech B ToM, 4T BaMM noNy4eHbl Bee eTani COFMACcHO NEpeyHio KoMMEKTaLui.
B crlyyae OTCYTCTBIUA UM NOBPEXAeHNA KaKX-MGO JeTaneil 06paTiTech 3a oMOLLbI0 Ha CTpaHmLy tripplite.com/support.

/~ N\
. ( (mm (o
u_‘cL oD - ° ﬂﬂ] M MSx’xA(xa) Mexh;l‘fB(xl:) Msﬁ?c(xd)
ho® 509 (]
MEﬁOD(XA) MBxhi:OE(XA)
M6x30 (x2) M6x14 (x2) M8x30 (x10) @ @:)
E (x2) F G H 1 (x4) J(x1) K (x1) e
N\ M-F (x4) M-G (x8) M-H(x8) /

YnaKkoBOUHbI komnnexT P YnakoBouHblii komnnekt M

27



1. C6opKa noacTaBKu




1. C6opKa noacTaBKu

2. KpenneHne KpoHLTENHOB K AuCnnelo

29



2. KpenneHue KpoHLUTEIHOB K AuCnnelo




3. Pa3meuleHue Kabenen

TEXHUYECKOE OBC/TYMUBAHMUE. Perynapro (e pexce, uem pa3 B 3 Mecaija) npoepsiite

HaIeXHOCTb KPenneHna aucnnea u 6e30MacHoCTb ero
Ncnonb30BaHnA.

31



TRIPP LITE %

Mpoaykuws BbicLuero
Kauecrea.

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

32 2102-295 + 93-3E00_RevA



Bedienungsanleitung

Tragbarer Stander fur Digital Signage
fur 32- bis 55-Zoll Bildschirme

Modell: DMPDS3255F

Englishl 1 * Espaiol 9 ¢ Francais 17 * Pycckumn 25

ACHTUNG: DIE ANGEBENE MAXIMALE NUTZLAST DARF NICHT UBERSCHRITTEN
WERDEN. EINE UBERSCHREITUNG KANN ZU SCHWEREN VERLETZUNGEN UND

ERHEBLICHEN SACHSCHADEN FUHREN!

200x200/300x200
300x300/400x200

400x300/400x400

uuk; S
]
facturi

anufa ng
Excellence

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2021 Tripp Lite. Alle Rechte vorbehalten.



Sicherheitshinweise

HINWEIS: Lesen Sie das gesamte Handbuch, bevor Sie mit der Installation und Montage beginnen.

/\WARNUNG

* Beginnen Sie nicht mit dem Einbau, bevor Sie die Anweisungen und Warnhinweise in diesem Handbuch gelesen
und verstanden haben. Sollten Sie Fragen bezlglich der Anweisungen oder Warnhinweise haben, besuchen Sie bitte
tripplite.com/support.

* Diese Halterung sollte AUSSCHLIESSLICH wie in diesem Handbuch angegeben eingebaut und verwendet werden. Die
unsachgemafe Installation dieses Produkts kann zu Schaden und schweren Verletzungen flhren.

* Dieses Produkt darf nur von einer Person mit gutem mechanischen Geschick und Grundkenntnissen im Bauen montiert
werden, die alle Anweisungen in der vorliegenden Montageanleitung vollstandig verstanden hat.

* Stellen Sie sicher, dass die verwendete Montageflache das Gewicht des Gerats sowie das zugehdrige Material und
samtliche zugehdrigen Komponenten tragen kann.

* VVerwenden Sie eine mechanische Hebevorrichtung, um das Gerat sicher anzuheben und zu positionieren.

 Ziehen Sie die Schrauben fest, aber nicht zu fest an. Durch zu festes Anziehen der Schrauben kénnen die
Komponenten beschadigt werden, wodurch die Haltekraft stark reduziert wird.

* Dieses Produkt ist nur fur den Einsatz in geschlossenen Raumen geeignet. Die Verwendung dieses Produktes im Freien
kann zu Fehlfunktionen und Verletzungen fuhren.

5-Jahres-Garantie

Der Verkaufer garantiert flr einen Zeitraum von funf Jahren ab Kaufdatum, dass das Produkt weder Material- noch
Herstellungsfehler aufweist, wenn es gemaf allen zutreffenden Anweisungen verwendet wird. Wenn das Produkt in diesem
Zeitraum Material- oder Herstellungsfehler aufweist, kann der Verkaufer diese Fehler nach eigenem Ermessen beheben oder
das Produkt ersetzen.

DIE NORMALE ABNUTZUNG ODER BESCHADIGUNGEN AUFGRUND VON UNFALLEN, MISSBRAUCH ODER UNTERLASSUNG
WERDEN VON DIESER GARANTIE NICHT GEDECKT. AUSSER DEN NACHSTEHEND AUSDRUCKLICH DARGELEGTEN
GARANTIEBEDINGUNGEN UBERNIMMT DER VERKAUFER KEINERLEI GARANTIE. AUSSER WENN VON DEN GULTIGEN
GESETZEN UNTERSAGT, SIND ALLE IMPLIZIERTEN GARANTIEN, EINSCHLIESSLICH ALLE GARANTIEN FUR DIE
GEBRAUCHSTAUGLICHKEIT ODER EIGNUNG AUF DIE OBEN FESTGELEGTE GARANTIEDAUER BESCHRANKT. DIESE GARANTIE
SCHLIESST AUSDRUCKLICH ALLE FOLGESCHADEN UND BEILAUFIG ENTSTANDENEN SCHADEN AUS. (Da einige Lander

den Ausschluss oder die Beschrankung von Folgeschaden oder beilaufig entstandenen Schaden sowie den Ausschluss von
implizierten Garantien oder die zeitliche Beschrankung einer implizierten Garantie untersagen, sind die oben genannten
Beschrankungen flr Sie moéglicherweise nicht zutreffend. Diese Garantie gibt Innen bestimmte Rechte. Sie haben jedoch
mdglicherweise andere Rechte, die abhangig von der Gerichtsbarkeit variieren kénnen.)

WARNUNG: Der Benutzer muss vor der Verwendung Uberprifen, ob das Gerat flr den beabsichtigten Zweck geeignet und
angemessen ist und ob der Einsatz sicher ist. Da die Anwendungen variieren konnen, ubernimmt der Hersteller keine Garantie
beztglich der Eignung dieser Gerate fur einen bestimmten Verwendungszweck.

Tripp Lite hat den Grundsatz, sich kontinuierlich zu verbessern. Spezifikationen kdnnen ohne Ankindigung geadndert werden.
Fotos und lllustrationen kdnnen von den tatsachlichen Produkten leicht abweichen

34



Komponentenliste

WICHTIG: Uberpriifen Sie, ob Sie alle in der Komponentenliste aufgefilhrten Teile erhalten haben, bevor Sie mit der

Installation beginnen. Wenn Teile beschadigt oder nicht vorhanden sind, besuchen Sie bitte tripplite.com/support.

4 A
(o (mm (o
\34 OD o) % MsxhrA(x‘i) M6xh;l‘4B(x4) Msﬁoc(xa)
A(x2) B (x3) C(x1) D (x2)
() I
MEﬁOD(XA) MBxhi:OE(XA)
M6x30 (x2) MBx14 (x2) M8x30 (x10) @ @:}
E (x2) F G H 1 (x4) J(x1) K (x1) =S
\_ M-F(x4) M-G (x8) M-H(xB) J

Paket P

1. Montieren des Standers

Paket M




1. Montieren des Standers




1. Montieren des Standers

37



2. Befestigung der Halterungen am Bildschirm




3. Kabelfuhrung

WARTUNG:

Uberpriifen Sie in regelmaRigen Abstanden (mindestens alle 3 Monate), ob
der Bildschirm sicher angebracht ist und sicher benutzt werden kann.

39



Excellence

TRIPPLITE &

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

40 21-02-295 + 93-3E00_RevA



